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o s 2015 & Ol4 | 2014 2 Olat | B2A | RAHI(20158) o s 2015 & Ol4 | 20149 2 0la [ S2Y | RAHI(20158)
2 21,003 12,003 9,000 0.72%| THOHUI2H 2teld] 2,142,496 1,871,982 270,514 73.39%
=gl 10,000 5,000 5,000 jelials]] 1,274,351 1,096,658 177,693
ANl 11,003 7,003 4,000 el 23l 868,145 775,324 92,821
2x3+¢ 60,001 60,001 - 2.06%| AMEABISX = 1,000 6,000 5,000 0.03%
FNEX3+Y 1 1 - &4 1,000 6,000 5,000
ARHEZS L 60,000 60,000 - SFSAAY XE 2,003 687 1,316 0.07%
FSAHA Y 2,181,248 2,016,549 164,699 T4.71% FSAAXE 2,003 687 1,316
2SR 3 2,181,248 2,016,549 164,699 DEIAS XE 15,014 48,013 32,999 0.51%
DE A 198,018 152,418 45,600 6.78% ESNPNTAINE 4 4 -
SRR 4 4 - SE XA XIE 15,007 48,006 32,999
S RHAHOH2E 7 7 - SEXHAHFE S 3 3 -
PE A2t =2 4 4 - ollgl Bl 29,195 25,639 3,556 1.00%
=N T 198,003 152,403 45,600 ol gl gl 29,195 25,639 3,556
23ed=s 1 1 - 0.00%| R=s2Me K& 198,001 152,401 45,600 6.78%
g2 1 1 - SSEUXE 198,001 152,401 45,600
SO0 X3 459,249 323,002 136,247 15.73% RELMS XNE 2 2 - 0.00%
SII0IE X3 459,249 323,002 136,247 DESUXNE 2 2 -
JI23EeEXE 1 1 - 0.00%
Jl2azers 1 1 -
o ¢ I 3 & A 531,808 459,249 72,559 18.22%
a2 2 & A 2,919,520 2,563,974 355,546 100.00% T 2 N & & A 2,919,520 2,563,974 355,546 100.00%
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@ & = 2 04H(A) FES 0l4HB) 2 (A-8) & & 2 A
28 21,003 12,003 9,000
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Sy 28+ 10,000 5,000 5,000 |- A&HI==& : 10,000,000
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0l 2 0l Xt 10,000 6,000 4,000 [« 28712 S W30IAt=< : 10,000,000
MIFHFH0I 1 1 - H=2EX=S
om|=a ! 1 - EESE
i RelFSiey=: 1 1 - H=2EX=S
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2x3+Y 60,001 60,001 -
2NEXISY 1 1 -
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NN EEZS L 60,000 60,000 -
NN EEZS L 60,000 60,000 - e =M=z X MAHl @ 5,000,000 x 1224 2=60,000,000&
Sk 2,181,248 2,016,549 164,699
SSAE 3 2,181,248 2,016,549 164,699
SIS0 1 1 - H=2EXS
ESHE
c AZ2™¥AS 16,0008 x 10¥ x 302 x 1201 &=21,600,000&
o AITH Y 2FAIH] @ 8,500 x99 x 30 x 1274 &=302, 940,000
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dE T 0l &H(B)

JIEtS & XHAHDH 2t CH

=SEM 198,003 162,403 45,600
=== 1 1 - I=FEXS
gt === 180,000 141,500 38,500 |+ ACHEE S : 15,000,000& x 1221 &=180,000,000&
HAd==23 18,000 10,900 7,100 |« E&AN S : 1,500,000& x 1274 &=18,000,000&
=== 1 1 - I=FEXS
lEtRs2HE=s 1 1 - H=FEXS
=gt 1 1 -
bl 1 1 -
b=t 1 1 - H=FEXS
g I Xt = 2 = A 2,460,271 2,240,972 219,299
& Jl 0l N = 459,249 323,002 136,247
Xt = > & A 2,919,520 2,563,974 355,546
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NES2[YI[(H7I1) : 2015. 3. 1 ~ 2016. 2. 287tAl] (=<4
= = = = 0l¢(A) | WU 0eB) | STU(AS) ¢ 8 =2
BHONHIS 22l 2,142,496 1,871,982 270,514
SR 1,074,351 1,096,658 177,693
DRQIAY) i i ~|o==xz
X 2101214) 993,000 902,460 90,540 |- HQI2HH| : 502 x 1,655,000 x 124 =093, 000, 0002
EPRNE 99,300 23,246 76,054 |+ BE AOIZ : 993,008 x 502 x 251=99,300, 0002
EEE 82,750 77,705 5,045 |- SIX2S3 ;502 x 1,655,0002=82,750, 0008
soz 99,300 93,246 6,054 |+ 4LiE&2 : 99,300,002
2] 868, 145 775,324 92,821
=2 =) 50,000 50,000 - |- =a1= 400 50,000,002
2lA - wuxz2 ! 1 - |p=zxz
HE2D2 D 3,000 3,000 - |- exM 2 B2 ¢ 3,000,008
=AYl 540 791 |- 251 : §S§%§§2A%§%H!%26yggég0%X1ZJH%=420‘OOO%
1| i 1 - |p=zxz
sz 98,424 94,600 3.824 |° i;gi ?gfg;’a; f?ﬁ;oﬁgggogz%
TREE WARETEE & : 15,000,008, - SW=E ¢ 1,000,008
B8z 19,750 15,000 4750 |- IEX P2 : 3,000,008
.« AHEEDE ¢ 15 0002 x 502=750.0002
ofHl DSt 3,600 3,600 ~ |- 300,0002 x 122423, 600,002
e TRy
oIl 5,000 2,000 3,000 |- @18bl : 5,000,008
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= S (A) HE T 0l &H(B) (A-8) & £ 2 H
S22 QANE MEUE S ¢ 1,000,0008
A== 6,100 9,100 3,000 =2g3 H=ZME+2 5,000,000
USTHZAE : 100.0002
217 1 1 - |H==x2
3 1 1 - |[n=Ex2
&sa 1 1 - |[n=Ex2
5 QU YA MATA : 1,200,0008
SH _ , s
S 4,200 4,200 QR IR 5FE Il #A : 3,000,000% H : 4,200,008
IR 1,800 1,800 - |- Z20® 2 ASWEY : 150,0002 x 122HB=1,800,0002
EEPEE] 2,000 2,000 - |- 23|y S : 2,000,0008
L] 6.000 6.000 - |+ 1,500,0002 x 421=6,000,0002
= Qo NYRF 9 ZIHl : 5,000,000
= = , ,
SE2HI 10,000 6,000 4,000 =02 SZHHME ¢ 5.000,0008
HHO, A S 2Z YLNSEEE 2l © 5,000,008
AMO _ , , ,
St NL:]| 20,000 20,000 Qoral BAZAL : 15.000,0008
eS| 3,000 3,000 - |- H® Az DSEAEIIY S JIEFDSEARBY : 3,000,008
AICH,2AIHI 2 3R A1 12,0009 x 999 x 302 x 1204 F=427,680,0002
ojorZ el 9 MZH| : 999 x5,0002 x 1224 81=5,940,0008
= R=Yet| , ,940,000&
JIEreEl =Sl 549,666 485,108 64.5% |. z=ai2/h : 6,357,403 12948 -76,288, 836
JIEFR 2122 (OIEFIHI, 10, B OH S) © 39,758,000
AQIHIE XIS 1,000 6.000 5,000
Fau 1,000 6.000 5,000
SRS 1,000 6,000 5,000 [+ Z&a : 1,000,009
LSS XE 2,003 687 1,316
2,003 687 1,316
s 1 1 - |[n=EN2
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= & = = 04 (A) HEAT 0 4H(B) =294 (A-B) & e 2 B
HSYHME 2,000 684 1,316 |« Ad=- Al @ 2,000,000
JIEtRSHAXIE 1 1 - ([A=EXZ
DETLS & 15,014 48,013 |- 32,999
EXAXIE 4 4 -
FIE0S0X 1 1 - |A=EXS
SEX= IS 201 1 1 - ([UA=EXZ
SR = N 1 1 - |UA=SEXS
JIEtS SR AHAX & 1 1 - ([UA=EXZ
SE XS X = 15,007 48,006 |- 32,999
JIHIEXIONCH 1 1 - |UA=SEXS
- QU AN YL PHEB(AE, 02 S)FLHl : 5,000,000
EIIHI S 0H CH 15,000 15,000 - |+ EMOH % DIt IS4l ¢ 5,000,000
« ZIHE P2Hl : 5.000.000&
A=S0HCH 1 1 - |ASEXS
EX0H 1 1 - |UH=sEXS
A=l KA O 1 1 - |(H=EEXS
HESHS 1 1 - |UH=sEXS
et 2 8= 00 & CH 1 33,000 |- 32,999 (A= EXIZ
JIEtS]l SE XA CH 1 1 - ([A=2EXZ
SE A SH 3 3 -
KI = TH &2 0H &) CH 1 1 - (ASsEXS
HEHIXIE 1 1 - ([ASsEXS
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= & g 2 0l&H(A) HAET GllAHB) E2 o (A-B) & S =2
JIELS] RE XK= 1 1 - |A=EIS
TSI 29,195 25,639 3,556
S]] 29,195 25,639 3,556
TSI 29,195 25,639 3,556 |- oibIbl1%
e I 198,001 152,401 45,600
SSEMUNE 198,001 152,401 45,600
SEIES=PNE 180,000 142,500 37,500 |« 4THEES : 15,000,0002 x 1274 2=180,000,000%
MAM=32XI& 18,000 9,900 8,100 [« 2&Al S : 1,500,000 x 12J1&=18,000,000&
JlEte RSRMASE 1 1 - |lr=zxz
DL NE 2 2 -
DHSHN S 2 2 -
gEZ0EYSN2 1 1 - |lr=zxz
JlEtel DESHNS 1 1 - |lr=zxz
BTN 1 1 -
Jl=2 s 1 1 -
E)|=23eHE 1 1 - |UA=SEXS
g I X" 2 N =B = 3 2,387,712 2,104,725 282,987
a1 2 xR =2 = A 531,808 459,249 72,559
X 22 N =5 = A 2,919,520 2,563,974 355,546




